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Function Operations Practice
Perform the indicated operation,

1) Mx)=x+2
elx) 4y + 4
Find ilx) + glx)

X42 + -4 tY
3% 46

3) Mn)=3n+5s
gln) =3n’ + 5n
Find Mn) + gln)

3nt5 +3p>4+5n
3n® +8n 5

5) fln)=4an+3
gn)l=-n-3
Find 7(n) - gln)

("ln fS)('m})
‘qhz-lkn 3In-9
~Yn*-iSn-9

Deees

Find gln)- 7ln)

(2n-4) (n22)

2n® -Yn-4ndy g

LT Y
9) h(:'l)?-u —...;h \‘” ‘-%

gdt)=1-5
Find Ale) - glt)

Yt=2 - (t-5)
i4-d-tis
3t+3

Hn-l

Name 1D: |

Date Period

2) gly)=x"+1
flx)=4x+3
Find glx) - flx)

L+l —(4e43)
x| -4x-3
Xly-2,
4) gla)=2a+2

a) = a’® - 2a

Find gla) - ha)

da -+ -(Q>-3,)
Qatd -0>43a
“Q* +4a +20

6) gln)=dn-
hin)=n®>-2n

Find gln) + hin) n‘.).“ =0

= ,uh;'; h(n2)=0
N=2a n - e
n=a
8) glx)=x* - 4x

hx)=2x+5
Find glx) + hlx)

x3-4x + 295
-2y i5

10) f(n)=n+3
gln) =-3n’ +4n
Find f(n) + g(n)
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ll\.\"\) dy - S
Ma) = x* - Sx

Find gly) + Alx)

13) wln) = 20" + 5n
Wn) =n+2
Find gln) - in)

15) glx) =2x
Mx) =-3x -1

Find go . i=3)

94-3) = 2D=-6

17) Me)=1-3
elr)=-3'+5
Find m2) - g2)

19) gln) =n+5
In)=n" +n

Find g{-3) + il-3)

12) glx) = 4x
Mx)=3x* =3
Find glx) - A x)

14) fln)=n'~5n" +2n
@nl=3n-1
Find f(n) + gln)

@-\) 16) glr)= -2 + 1

fl)=ae-1

- 97?'—-27\ Find g(3) - 7(2)
-GC-2¢3) =

-6@) +6 -3
+ b

18) gla)=-a -5
Ma)=3a+2
Find gl-9) + i{-9)

200 fln)=3n+4
gln)=2n+4 '
Find /(1) + gl1)



